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QUESTION 1

Name the fields from which the term project management is developed. 

A. Defense, construction, and engineering 

B. Education and training 

C. Agriculture and marketing 

D. Training and marketing 

Correct Answer: A 

 

 

QUESTION 2

The Hardware Store ordered ten lawn mower from the manufacturer and just before shipping the manufacturer found
one to have a motor that wouldn\\'t start. For the manufacturer this would be categorized as what type of cost? 

A. Internal Failure Costs 

B. External Failure Costs 

C. Prevention Costs 

D. Appraisal Costs 

Correct Answer: A 

 

 

QUESTION 3

Which statement is NOT correct about the Fitted Line Plot shown here? 
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A. The independent variable is the reactant 

B. If the reactant was 10 units, with 95% confidence we would expect a minimum yield of 148 units 

C. With at least 95% confidence, we can expect less than 10 units of Yield when the reactant is at a value of 1 

D. A reactant value between 6 and 8 units yields around 40 to 60 

E. When the reactant increases, the expected yield would increase 

Correct Answer: D 

 

 

QUESTION 4

The reported Cpk for a process with an average of 98 units, a spread of 16 units and upper and lower specification limits
of 115 and 90 units would be? 

A. 0.5 

B. 0.75 

C. 1.00 
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D. 1.25 

Correct Answer: C 

 

 

QUESTION 5

Which of the following charts does not have fixed control limits? 

A. X-bar and R 

B. I-MR 

C. c 

D. u 

Correct Answer: D 
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